
BLIND RIVET BLIND RIVET

ALUMINUM RIVET/ALUMINUM NAIL ALUMINUM RIVET/ALUMINUM NAIL

(cont.)

Part number Description Pack Part number Description Pack

NBBGAMD44A   4-4 BUT HD                500 NBBGAMD32A   3-2 BUT HD                500

NBBGAMD44DBRZ 4-4 BUT HD DRK BRNZ       500 NBBGAMD34A   3-4 BUT HD                500

NBBGAMD44DB  4-4 BUT HD DR. BROWN      500 NBBGAMD41A   4-1 BUT HD                500

NBBGAMD44AW  4-4 BUT HD WHITE          500 NBBGAMD42A   4-2  BUT HD               500

NBBGAMC44A   4-4 CTSK HD               500 NBBGAMD42DBRZ 4-2 BUT HD DRK BRNZ       500

NBBGAML44A   4-4 LG FLNG HD               500 NBBGAMD42DB  4-2 BUT HD DR. BROWN      500

NBBGAMD45A   4-5 BUT HD                500 NBBGAMD42AW  4-2 BUT HD WHITE          500

NBBGAMC45A   4-5 CTSK HD               500 NBBGAMC42A   4-2 CTSK HD               500

NBBGAMD46A   4-6 BUT HD                500 NBBGAML42A   4-2 FLNG HD               500

NBBGAML46A   4-6 LG FLNG HD               500 NBBGAMD43A   4-3 BUT HD                500

NBBGAMD48A   4-8 BUT HD                500 NBBGAMD43DBRZ 4-3 BUT HD DRK BRZ        500

NBBGAMD52A   5-2 BUT HD                500 NBBGAMC43A   4-3 CTSK HD               500

NBBGAMD53A   5-3 BUT HD                500 BLIND RIVET
NBBGAMD54A   5-4 BUT HD                500 ALUMINUM RIVET/STEEL NAIL
NBBGAMC54A   5-4 CTSK HD               500

NBBGAMD56A   5-6 BUT HD                500 Part number Description Pack

NBBGAMC56A   5-6 CTSK HD               500 NCBGSMD32A   3-2 BUT HD               500

NBBGAMD58A   5-8 BUT HD                500 NCBGSMD34A   3-4 BUT HD               500

NBBGAMD62A   6-2 BUT HD                500 NCBGSMD41A   4-1 BUT HD               500

NBBGAMD64A   6-4 BUT HD                500 NCBGSMD42A   4-2 BUT HD               500

NBBGAMC64A   6-4 CTSK HD               500 NCBGSMC42A   4-2 CTSK HD              500

NBBGAML64A   6-4 LG FLNG HD            250 NCBGSML42A   4-2 LG FLNG HD              500

NBBGAMD66A   6-6 BUT HD                500 NCBGSMD43A   4-3 BUT HD               500

NBBGAML66A   6-6 LG FLNG HD            250 NCBGSMC43A   4-3 CTSK HD              500

NBBGAMD68A   6-8 BUT HD                500 NCBGSMD44A   4-4 BUT HD               500

NBBGAML68A   6-8 LG FLNG HD            250 NCBGSMC44A   4-4 CTSK HD              500

NBBGAMD610A  6-10 BUT HD               250 NCBGSML44A   4-4 LG FLNG HD              500

NBBGAML610A  6-10 LG FLNG HD           250 NCBGSMD45A   4-5 BUT HD               500

NBBGAMD612A  6-12 BUT HD               250 NCBGSMC45A   4-5 CTSK HD              500

NBBGAML612A  6-12 LG FLNG HD           250 NCBGSMD46A   4-6 BUT HD               500

NBBGAMD614A  6-14 DOME HD              200 NCBGSML46A   4-6 LG FLNG HD              500

NBBGAMD616A  6-16 DOME HD              200 NCBGSMD48A   4-8 BUT HD               500

NBBGAMD84A   8-4 DOME HD               250 NCBGSMD410A  4-10 BUT HD              500

NBBGAMD86A   8-6 BUT HD                250 NCBGSMD52A   5-2 BUT HD               500

NBBGAMD88A   8-8 DOME HD               250 NCBGSMD53A   5-3 BUT HD               500

NBBGAMD810A  8-10 DOME HD              200 NCBGSMD54A   5-4 BUT HD               500

NBBGAMD812A  8-12 BUT HD               200 NCBGSMC54A   5-4 CTSK HD              500

NBBGAMD816A  8-16 BUT HD               200 NCBGSMD56A   5-6 BUT HD               500

NCBGSMC56A   5-6 CTSK HD              500

NCBGSMD58A   5-8 BUT HD               500

NCBGSMD62A   6-2 BUT HD               500

NCBGSMD64A   6-4 BUT HD               500

NCBGSMC64A   6-4 CTSK HD              500



BLIND RIVET NCBGSML64A   6-4 LG FLNG HD           250

ALUMINUM RIVET/STEEL NAIL NCBGSMD66A   6-6 BUT HD               500

(cont.) NCBGSML66A   6-6 LG FLNG HD              250

Part number Description Pack NCBGSMD68A   6-8 BUT HD               500

NCBGSMD812A  8-12 BUT HD              200 NCBGSML68A   6-8 LG FLNG HD              250

NCBGSMD816A  8-16 BUT HD              200 NCBGSMD610A  6-10 BUT HD              250

NCBGSML610A  6-10 LG FLNG HD             250

NCBGSMD612A  6-12 BUT HD              250

BLIND RIVET NCBGSML612A  6-12 LG FLNG HD             250

STEEL RIVET/STEEL NAIL NCBGSMD614A  6-14 BUT HD              250

NCBGSML614A  6-14 LG FLNG HD             250

Part number Description Pack NCBGSMD616A  6-16 BUT HD              250

NDBGSMD32S   3-2 BUT HD              500 NCBGSMD84A   8-4 DOME HD              200

NDBGSMD34S   3-4 BUT HD              500 NCBGSMD86A   8-6 BUT HD               100

NDBGSMD41S   4-1 BUT HD              500 NCBGSMD88A   8-8 BUT HD               100

NDBGSMD42S   4-2 BUT HD              500 NCBGSMD810A  8-10 BUT HD              200

NDBGSMC42S   4-2 CTSK HD             500 BLIND RIVET
NDBGSML42S   4-2 FLNG HD             500 STEEL RIVET/STEEL NAIL
NDBGSMD43S   4-3 BUT HD              500 (cont.)

NDBGSMC43S   4-3 CTSK HD             500 Part number Description Pack

NDBGSMD44S   4-4 BUT HD              500 NDBGSMD614S  6-14 BUT HD             250

NDBGSMC44S   4-4 CTSK HD             500 NDBGSMD616S  6-16 BUT HD             250

NDBGSML44S   4-4 FLNG HD             500 NDBGSMD84S   8-4 BUT HD              250

NDBGSMD45S   4-5 BUT HD              500 NDBGSMD86S   8-6 BUT HD              250

NDBGSMC45S   4-5 CTSK HD             500 NDBGSML86S   8-6 FLNG HD             200

NDBGSMD46S   4-6 BUT HD              500 NDBGSMD88S   8-8 BUT HD              100

NDBGSML46S   4-6 FLNG HD             500 NDBGSMD810S  8-10 BUT HD             200

NDBGSMD48S   4-8 BUT HD              500 NDBGSMD812S  8-12 BUT HD             200

NDBGSMD52S   5-2 BUT HD              500 NDBGSMD814S  8-14 BUT HD             200

NDBGSMD53S   5-3 BUT HD              500 NDBGSMD816S  8-16 BUT HD             200

NDBGSMD54S   5-4 BUT HD              500

NDBGSMC54S   5-4 CTSK HD             500

NDBGSMD56S   5-6 BUT HD              500 BLIND RIVET
NDBGSMC56S   5-6 CTSK HD             500 STAINLESS RIVET/STAINLESS NAIL
NDBGSMD58S   5-8 BUT HD              500

NDBGSMD62S   6-2 BUT HD              500 Part number Description Pack

NDBGSMD64S   6-4 BUT HD              500 NEBGSSMD42SS 4-2 BUT HD                500

NDBGSMC64S   6-4 CTSK HD             500 NEBGSSML42SS 4-2 LARGE FLANGE          500

NDBGSML64S   6-4 LGE FLNG HD         250 NEBGSSMD43SS 4-3 BUT HD                500

NDBGSMD66S   6-6 BUT HD              500 NEBGSSMD44SS 4-4 BUT HD                500

NDBGSML66S   6-6 FLNG HD             250 NEBGSSML44SS 4-4 LARGE FLANGE          500

NDBGSMD68S   6-8 BUT HD              500 NEBGSSMD46SS 4-6 BUT HD                500

NDBGSML68S   6-8 FLNG HD             250 NEBGSSMD48SS 4-8 BUT HD                500

NDBGSMD610S  6-10 BUT HD             250 NEBGSSMD52SS 5-2 BUT HD                500

NDBGSML610S  6-10 FLNG HD            250 NEBGSSMD54SS 5-4 BUT HD                500

NDBGSMD612S  6-12 BUT HD             250 NEBGSSMD56SS 5-6 BUT HD                500

NDBGSML612S  6-12 FLNG HD            250 NEBGSSMD62SS 6-2 BUT HD                500

BLIND RIVET NEBGSSMD64SS 6-4 BUT HD                500



STAINLESS RIVET/STEEL NAIL NEBGSSMD66SS 6-6 BUT HD                500

(cont.) NEBGSSML66SS 6-6 LARGE FLANGE          250

Part number Description Pack NEBGSSMD68SS 6-8 BUT HD                500

JLDGSMD52SS  5-2 BUT HD               500 NEBGSSML68SS 6-8 LARGE FLANGE          250

JLDGSMD54SS  5-4 BUT HD               500

JLDGSMD56SS  5-6 BUT HD               500

JLDGSMD62SS  6-2 BUT HD               500 BLIND RIVET

JLDGSMD64SS  6-4 BUT HD               500 STAINLESS RIVET/STEEL NAIL

JLDGSMD66SS  6-6 BUT HD               500

JLDGSMD68SS  6-8 BUT HD               500 Part number Description Pack

JLDGSMD42SS  4-2 BUT HD               500

JLDGSMD43SS  4-3 BUT HD               500

EXTRA LONG BLIND RIVET (METRIC) JLDGSMD44SS  4-4 BUT HD               500

ALUMINUM RIVET/STEEL NAIL JLDGSMD46SS  4-6 BUT HD               500

JLDGSMD48SS  4-8 BUT HD               500

Part number Description Pack CLOSED END BLIND RIVET
JVP04018     .157 DIA X .593 GRIP  500 ALUMINUM RIVET/STEEL NAIL
JVP04021     .157 DIA X .687 GRIP  500 (cont.)

JVP04025     .157 DIA X .875 GRIP  500 Part number Description Pack

JVP03018     .188 DIA X .593 GRIP  250 JWPGSMD66AC  6-6 BUTT HD         500

JVP03021     .188 DIA X .687 GRIP  500 JWPGSMD68AC  6-8 BUTT HD         250

JVP03025     .188 DIA X .875 GRIP  500 JWPGSMD610A  6-10 BUTT HD        250

JVP05035     .197 DIA X 1.187 GRIP 100

JVP05040     .197 DIA X 1.375 GRIP 100

JVP05045     .197 DIA X 1.625 GRIP 100 CLOSED END BLIND RIVET

JVP05050     .197 DIA X 1.750 GRIP 100 ALUMINUM RIVET/ALUMINUM NAIL

JVP05055     .197 DIA X 1.968 GRIP 100

JVP05060     .197 DIA X 2.156 GRIP 100 Part number Description Pack

JVP05065     .197 DIA X 2.375 GRIP 100 JCSAD42AH    4-2 DOME HD          500

JVP05080     .197 DIA X 2.968 GRIP 100 JCSAD43AH    4-3 DOME HD          500

JCSAD44AH    4-4 DOME HD          500

JCSAD54AH    5-4 DOME HD          500

CLOSED END BLIND RIVET JCSAD62AH    6-2 DOME HD          500

ALUMINUM RIVET/STEEL NAIL JCSAD64AH    6-4 DOME HD          500

JCSAD66AH    6-6 DOME HD          500

Part number Description Pack JCSAD68AH    6-8 DOME HD          250

JWPGSMD41AC  4-1 BUTT HD         500

JWPGSMD42AC  4-2 BUTT HD         500

JWPGSMD43AC  4-3 BUTT HD         500 BLIND RIVET

JWPGSMD44AC  4-4 BUTT HD         500 COPPER RIVET/STEEL NAIL

JWPGSMD45AC  4-5 BUTT HD         500

JWPGSMD52A   5-2 BUTT HD         500 Part number Description Pack

JWPGSMD53A   5-3 BUTT HD         500 ASCCB42      4-2 BUT HD          500

JWPGSMD54A   5-4 BUTT HD         500 ASCCB44      4-4 BUT HD           500

JWPGSMD62AC  6-2 BUTT HD         500

JWPGSMD64AC  6-4 BUTT HD         500

POP STRUCTURAL T BLIND RIVET POP MULTI/GRIP BLIND RIVET

ALUMINUM RIVET/STEEL NAIL ALUMINUM RIVET/STEEL NAIL



Part number Description Pack Part number Description Pack

CAPAD6140TFBS 3/16X.032-.140 GRIP 250 CANAD4143BS  1/8X-1-3 .039/.187 GRIP 500

CAPAD6250TFBS 3/16X .188-.250 GRIP 250 CANAD4345BS  1/8X-3-5 .157/.312 GRIP 500

CAPAD6375TFBS 3/16X .313-.375 GRIP 250 CANAD5254BS  5/32X-2-4 .047-.250 GRIP 500

CAPAD8140TFBS 1/4 X .032-.140 GRIP 100 CANAD6264BS  3/16X-2-4 .063-.250 GRIP 250

CAPAD8187TFBS 1/4 X .141-.187 GRIP 100 CANAD6264BSLF 3/16 FLANGE .063-.250 GRIP 250

CAPAD8250TFBS 1/4 X .188-.250 GRIP 100 CANAD6366BS  3/16X-3-6 .188-.375 GRIP 250

CAPAD8519TFBS 1/4 X .437-.519 GRIP 100 CANAD6668BS  3/16X-6-8 .251-.500 GRIP 250

CAPAD8620TFBS 1/4 X .520-.620 GRIP 100 CANAD6668BSLF 3/16 FLANGE .251-.500 GRIP 250

ROUND BACK UP RIVET WASHERS

STEEL

POP ULTRA GRIP (MONOBOLT)

Part number Description Pack STEEL NAIL/STEEL RIVET

NGBGSRW-4    1/8                   500

NGBGSRW-6    3/16                    500 Part number Description Pack

NGBGSRW6L    3/16 X 1/2 OD           500 AFLSD6270UG  3/16X .062-.270 GRIP   100

AFLSD6437UGX 3/16X .214-.437 GRIP   100

AFLSSPV67    3/16 X 7/16 BUT HD     500

ROUND BACK UP RIVET WASHERS AFLSD8375UG  1/4X .080-.375 GRIP    100

ALUMINUM AFLSD8625UGX 1/4X .350-.625 GRIP    100

Part number Description Pack

NGBGARW-4    1/8                      500 POP ULTRA GRIP (MONOBOLT)

NGBGARW-5    5/32                     500 STAINLESS STEEL NAIL/

NGBGARW-6    3/16                     500 STAINLESS STEEL RIVET

NGBGARW6L    3/16 X 1/2 OD            500 Part number Description Pack

AFMSSD6270UG 3/16X .062-.270 GRIP 100

AFMSSD8375UG 1/4X .080-.375 GRIP  100

POP ULTRA GRIP (MONOBOLT)

ALUMINUM NAIL/ALUMINUM RIVET 

FLAT ALUMINUM BLIND RIVET NUT

Part number Description Pack

AFKAD6270UG  3/16X .062-.270 GRIP 100

AFKAD6437UGX 3/16X .214-.437 GRIP 100 Part number Description Pack

AFKBAPV64    3/16 X 1/4 BUT HD    500 JMD632G075FA 6/32 X .075 GRIP       50

AFKAD8375UG  1/4 X .080-.375 GRIP 100 JMD832G75FA  8/32 X .075 GRIP            50

AFKAD8625UGX 1/4X .350-.625 GRIP  100 JMD832G120FA 8/32 X .120 GRIP           50

JMD832G160FS 8/32 X .160 GRIP            50

JMD1420G80FA 1/4-20 X .080 GRIP         50

JMD1420G140FA 1/4-20 X .140 GRIP         50

JMD1420G200FA 1/4-20 X .200 GRIP         50

JMD1420G260FA 1/4-20 X .260 GRIP         50

FLAT STEEL BLIND RIVET NUT JMD1032G80FA 10/32 X .080 GRIP          50

JMD1032G130FA 10/32 X .130 GRIP          50

(cont.) JMD1032G180FA 10/32 X .180 GRIP          50



Part number Description Pack JMD516G125FS 5/16-18 X.125 GRIP          25

JMD1032G130FS 10/32 X .130 GRIP           50 JMD516G200FS 5/16-18 X .200 GRIP         25

JMD1032G180FS 10/32 X .180 GRIP           50 JMD516G275FS 5/16-18 X .275GRIP          25

JMD1420G80FS 1/4-20 X .080 GRIP          50

JMD1420G140FS 1/4-20 X .140 GRIP          50

JMD1420G200FS 1/4-20 X .200 GRIP          50 FLAT STEEL BLIND RIVET NUT
JMD1420G260FS 1/4-20 X .260 GRIP          50

JMD516G125FA 5/16-18 X .125 GRIP        25

JMD516G200FA 5/16-18 X .200 GRIP        25 Part number Description Pack

JMD516G275FA 5/16-18 X .275 GRIP        25 JMD832G75FS  8/32 X .075 GRIP            50

JMD832G120FS 8/32 X .120 GRIP            50

JMD832G160FA 8/32 X .160 GRIP           50

PREMIUM HAND RIVETING TOOL JMD1032G80FS 10/32 X .080 GRIP           50

HEAVY DUTY RIVETING KIT IN TRAY

Part number Description Pack

NFBPL30      POP POWERLINK PS15         1 Part number Description Pack

NFBNTXFKIT   W/CASE-RET/SPR      1

LEVER STYLE HEAVY DUTY
1/4 CAP RIVETING TOOL HAND STYLE BLIND RIVET NUT TOOL

Part number Description Pack

NFBA450      1/4 MAX MANUAL  1 Part number Description Pack

JMDGBM10KIT  W/CASE & NUTS           1

JMDGBM10     1/4-20 MAX              1

LAZY TONG HEAVY DUTY
1/4 CAP RIVETING TOOL

LEVER STYLE BLIND RIVET NUT TOOL

Part number Description Pack

NFBPRG440    1/4 MAX MANUAL 1

Part number Description Pack

JMDGBM30     HVY DUTY 3/8-16 MAX    1

PNEUMATIC/HYDRAULIC JMDGBM20     1/4-20 MAX             1

POWER RIVETING TOOL

Part number Description Pack AVK STEEL CAD AT NUTSERT

NFB510APLS   POP/3/16 RIVET CAP 1

NFB540       POP1/4 CAP & MONO 1

Part number Description Pack

JKZATS2350PK M3 X 0.5 METRIC      50

JKZATS2470PK M4 X 0.7 METRIC      50

JKZATS2580PK M5 X 0.8 METRIC      50

JKZATS2610   M6 X 1.0 METRIC      25

AVK THREAD CONVERTER KITS JKZATS28125PK M8 X 1.25 METRIC     25

JKZATS21015PK M10 X 1.5 METRIC     25

JKZATS212175 M12 X 1.75 METRIC             25

Part number Description Pack JKZATS2440   4/40 INCH            100



JLZAAT202350 M3 X 0.5 METRIC      1 JKZATS2632   6/32 INCH            100

JLZAAT202470 M4 X 0.7 METRIC      1 JKZATS2832   8/32 INCH            100

JLZAAT202580 M5 X 0.8 METRIC      1 JKZATS21024  10/24 INCH           100

JLZAAT202610 M6 X 1.0 METRIC      1 JKZATS21032  10/32 INCH           100

JLZAAT2028125 M8 X 1.25 METRIC     1 JKZATS2420   1/4-20 INCH          50

JLZAAT2021015 M10 X 1.5 METRIC     1 JKZATS2428   1/4-28 INCH          50

JLZAAT202440 4/40 INCH            1 JKZATS2518   5/16-18 INCH         50

JLZAAT202632 6/32 INCH            1 JKZATS2524PK 5/16-24 INCH         50

JLZAAT202832 8/32 INCH            1 JKZATS2616PK 3/8-16 INCH          25

JLZAAT2021024 10/24 INCH           1 JKZATS2624PK 3/8-24 INCH          25

JLZAAT2021032 10/32 INCH           1 JKZATS2813   1/2-13 INCH              25

JLZAAT202420 1/4-20 INCH          1

JLZAAT202428 1/4-28 INCH          1 AVK AL SERIES ALUMINUM INSERT
JLZAAT202518 5/16-18 INCH         1

JLZAAT202524 5/16-24 INCH         1 (cont.)

JLZAAT202616 3/8-16 INCH          1 Part number Description Pack

JLZAAT202624 3/8-24 INCH          1 BPRALA1102413 10-24 X .130 GRIP    100

BPRALA1102422 10-24 X .225 GRIP    100

BPRALA1103213 10-32 X .130 GRIP    100

AVK HI-TORQUER MANUAL TOOL BPRALA1103222 10-32 X .225 GRIP    100

BPRALA1420165 1/4-20 X .165 GRIP   100

BPRALA1420260 1/4-20 X .260 GRIP   100

Part number Description Pack BPRALA1518150 5/16-18 X .150 GRIP  50

JMZAA112     T-HANDLE TOOL       1 BPRALA1518312 5/16-18 X .312 GRIP  50

JMZAA184518  5/16-18 EXPENDABLE  1 BPRALA1616150 3/8-16 X .150 GRIP   50

BPRALA1616312 3/8-16 X .312 GRIP   50

BPRALA1407200 M4-0.7 X 2.0MM GRIP  100

AVK NUTSERT ASSORTED KITS BPRALA1407330 M4-0.7 X 3.3MM GRIP  100

BPRALA1508330 M5-0.8 X 3.3MM GRIP  100

BPRALA1508570 M5-0.8 X 5.7MM GRIP  100

Part number Description Pack BPRALA161042 M6-1.0 X 4.2 MM GRIP     100

JNZAAT312A   #4-5/16 INCH         1 BPRALA1610660 M6-1.0 X 6.6MM GRIP  100

JNZAAT312BM  M3-M8 METRIC         1 BPRALA1812538 M8-1.25 X 3.8MM GRIP 50

BPRALA1812579 M8-1.25 X 7.9MM GRIP 50

BPRALA1101579 M10-1.5 X 7.9MM GRIP 50

AVK AL SERIES ALUMINUM INSERT BPRALA1101538 M10-1.5 X 3.8MM GRIP 50

Part number Description Pack AVK AL SERIES STEEL INSERT
BPRALA1632080 6-32 X .080 GRIP     100 YELLOW ZINC
BPRALA1632130 6-32 X .130 GRIP     100

BPRALA1832080 8-32 X .080 GRIP     100 Part number Description Pack

BPRALA1832130 8-32 X .130 GRIP     100 BPTALS4632080 6-32 X .080 GRIP   100

AVK AL SERIES STEEL INSERT BPTALS4632130 6-32 X .130 GRIP   100

YELLOW ZINC BPTALS4832080 8-32 X .080 GRIP   100

(cont.) BPTALS4832130 8-32 X .130 GRIP   100

Part number Description Pack BPTALS4102413 10/24 X .130 GRIP   100

BPTALS4407330 M4-0.7 X 3.3MM GRIP 100 BPTALS4102422 10/24 X .225 GRIP   100



BPTALS4508330 M5-0.8 X 3.3MM GRIP 100 BPTALS4103213 10/32 X .130 GRIP   100

BPTALS4508570 M5-0.8 X 5.7MM GRIP 100 BPTALS4103222 10/32 X .225 GRIP  100

BPTALS461042 M6-1.0 X 4.2MM GRIP 100 BPTALS4420165 1/4-20 X .165 GRIP  100

BPTALS4610660 M6-1.0 X 6.6MM GRIP 100 BPTALS4420260 1/4-20 X .260 GRIP  100

BPTALS4812538 M8-1.25 X 3.8MM GRIP 50 BPTALS4518150 5/16-18 X .150 GRIP 50

BPTALS4812579 M8-1.25 X 7.9MM GRIP 50 BPTALS4518312 5/16-18 X .312 GRIP 50

BPTALS4101538 M10-1.5 X 3.8 GRIP  50 BPTALS4616150 3/8-16 X .150 GRIP  50

BPTALS41015  M10-1.5 X 7.9MM GRIP 50 BPTALS4616312 3/8-16 X .312 GRIP  50

BPTALS4121755 M12-1.75 X 5.1M GRIP 50 BPTALS4813200 1/2-13 X .200 GRIP 50

BPTALS4121758 M12-1.75 X 8.9 GRIP 50 BPTALS4813500 1/2-13 X .500 GRIP 50

BPTALS4121751 M12-1.75 X 12.7 GRIP 50 BPTALS4407200 M4-0.7 X 2.0MM GRIP 100

AVK SERIES AK THREADED INSERTS

AVK AL SERIES TOOL CONVERSION KITS

Part number Description Pack

CFLAKS442016 1/4-20X.165 STL Y/Z 100

Part number Description Pack CFLAKS442026 1/4-20X.260 STL Y/Z  100

BPWAA271632  6/32                1

BPWAA271832  8/32                  1

BPWAA2711024 10/24              1 FULL BRAIZER 1100F SOFT ALUMINUM
BPWAA2711032 10/32               1 SOLID RIVET PIECE COUNT
BPWAA271420  1/4-20            1

BPWAA481420  1/4-20 (LEVER TOOL)  1 Part number Description Pack

BPWAA271518  5/16-18             1 NHB0604      3/16 X 1/4             500

BPWAA481518  5/16-18 (LEVER TOOL)  1 NHB0605      3/16 X 5/16            500

BPWAA271616  3/8-16              1 NHB0606      3/16 X 3/8             500

BPWAA481616  3/8-16 (LEVER TOOL) 1 NHB0607      3/16 X 7/16            500

BPWAA271470  M4-0.7              1 NHB0608      3/16 X 1/2             500

BPWAA271580  M5-0.8              1 NHB0609      3/16 X 9/16            500

BPWAA271610  M6-1.0              1 NHB0610      3/16 X 5/8             500

BPWAA481610  M-6-1.0 (LEVER TOOL)     1 NHB0612      3/16 X 3/4             500

BPWAA2718125 M8-1.25              1 NHB0616      3/16 X 1               500

BPWAA2711015 M10-1.50             1 NHB0804      1/4 X 1/4              500

BPWAA4811015 M10-1.5 (LEVER TOOL) 1 NHB0805      1/4 X 5/16             500

NHB0806      1/4 X 3/8              500

NHB0807      1/4 X 7/16             500

AVK AL SERIES INSERT NUT KITS NHB0808      1/4 X 1/2              500

NHB0810      1/4 X 5/8              500

NHB0812      1/4 X 3/4              500

Part number Description Pack

BPXAVK2293   METRIC KIT M4 - M10     1

UNIVERSAL HD 1100F SOFT ALUMINUM
UNIVERSAL HD 2117T4 HARD ALUMINUM SOLID RIVET PIECE COUNT
SOLID RIVET PIECE COUNT

Part number Description Pack

Part number Description Pack NLB0606      3/16 X 3/8             500

JUE0606X     3/16 X 3/8          500 NLB0607      3/16 X 7/16            500

JUE03014     3/16 X 7/16         500 NLB0608      3/16 X 1/2             500



JUE03016     3/16 X 1/2          500 NLB0610      3/16 X 5/8             500

JUE03018     3/16 X 9/16         500 NLB0612      3/16 X 3/4             500

JUE03020     3/16 X 5/8          500 NLB0616      3/16 X 1               500

JUE03024     3/16 X 3/4          500 NLB0806      1/4 X 3/8              500

JUE0804X     1/4 X 1/4           500 NLB0807      1/4 X 7/16             500

JUE04012     1/4 X 3/8           500 NLB0808      1/4 X 1/2              500

JUE04014     1/4 X 7/16          500 NLB0810      1/4 X 5/8              500

JUE0808X     1/4 X 1/2           500 NLB0812      1/4 X 3/4              500

JUE04020     1/4 X 5/8           500 NLB0816      1/4 X 1                500

JUE0812X     1/4 X 3/4           500

FULL BRAZIER ALUMINUM RIVET

1100 SOFT-LB. COUNT

FULL BRAZIER HD 2117T4 HARD ALUMINUM (cont.)

SOLID RIVET PIECE COUNT Part number Description Pack

JTD0608      3/16 X 1/2             25

Part number Description Pack JTD0609      3/16 X 9/16            25

NNB0406      1/8 X 3/8            500 JTD0610      3/16 X 5/8             25

NNB0604      3/16 X 1/4           500 JTD0612      3/16 X 3/4             25

NNB0605      3/16 X 5/16          500 JTD0804      1/4 X 1/4              25

NNB0606      3/16 X 3/8           500 JTD0805      1/4 X 5/16             25

NNB0607      3/16 X 7/16          500 JTD0806      1/4 X 3/8              25

NNB0608      3/16 X 1/2           500 JTD0807      1/4 X 7/16             25

NNB0609      3/16 X 9/16          500 JTD0808      1/4 X 1/2              25

NNB0610      3/16 X 5/8           500 JTD0809      1/4 X 9/16             25

NNB0612      3/16 X 3/4           500 JTD0810      1/4 X 5/8              25

NNB0806      1/4 X 3/8            500 JTD0812      1/4 X 3/4              25

NNB0807      1/4 X 7/16           500

NNB0808      1/4 X 1/2            500

NNB0809      1/4 X 9/16           500 FULL BRAZIER ALUMINUM RIVET

NNB0810      1/4 X 5/8            500 2117T4 HARD-LB. COUNT

NNB0812      1/4 X 3/4            500

Part number Description Pack

JUD0604      3/16 X 1/4              25

FULL BRAZIER ALUMINUM RIVET JUD0605      3/16 X 5/16             25

1100 SOFT-LB. COUNT JUD0606      3/16 X 3/8              25

JUD0607      3/16 X 7/16             25

Part number Description Pack JUD0608      3/16 X 1/2              25

JTD0604      3/16 X 1/4             25 JUD0609      3/16 X 9/16             25

JTD0605      3/16 X 5/16            25 JUD0610      3/16 X 5/8              25

JTD0606      3/16 X 3/8             25 JUD0612      3/16 X 3/4              25

JTD0607      3/16 X 7/16            25 JUD0614      3/16 X 7/8              25

TRUSS HEAD NYLON TAP-IT RIVET JUD0616      3/16 X 1                25

STEEL NAIL JUD0620      3/16 X 1 1/4            25

JUD0804      1/4 X 1/4               25

Part number Description Pack JUD0805      1/4 X 5/16              25

NXB0312      3/16 X 3/4             500 JUD0806      1/4 X 3/8               25

NXB0316      3/16 X 1               500 JUD0807      1/4 X 7/16              25

NXB0316RD    3/16 X 1 ROUND HEAD 100 JUD0808      1/4 X 1/2               25



NXB0408      1/4 X 1/2              500 JUD0809      1/4 X 9/16              25

NXB0412      1/4 X 3/4              500 JUD0810      1/4 X 5/8               25

NXB0416      1/4 X 1                500 JUD0812      1/4 X 3/4               25

NXB0424      1/4 X 1 1/2            500 JUD0814      1/4 X 7/8               25

NXB0424C     1/4 X 1 1/2            100 JUD0816      1/4 X 1                 25

NXB0432      1/4 X 2                100 JUD0820      1/4 X 1 1/4             25

NXB0448      1/4 X 3                100

NXB0464      1/4 X 4                100

UNIVERSAL HEAD PIN DRIVE

FLAT HEAD NYLON TAP-IT RIVET ALUMINUM RIVET

STEEL NAIL (cont.)

Part number Description Pack

Part number Description Pack PCB88-06     5/32 X -6               1000

NYB0316      3/16 X 1               500 PCB88-07     5/32 X -7               1000

NYB0324      3/16 X 1 1/2           250 PCB88-08     5/32 X -8               1000

NYB0412      1/4 X 3/4              500 PCB88-09     5/32 X -9               1000

NYB0416      1/4 X 1                500 PCB88-10     5/32 X -10              1000

NYB0424      1/4 X 1 1/2            500 PCB88-11     5/32 X -11              1000

NYB0432      1/4 X 2                100 PCB03-02     3/16 X -2               1000

PCB03-04     3/16 X -4               1000

PCB03-06     3/16 X -6               1000

UNIVERSAL HEAD PIN DRIVE PCB03-08     3/16 X -8               1000

ALUMINUM RIVET PCB03-10     3/16 X -10              1000

PCB03-12     3/16 X -12              1000

Part number Description Pack PCB03-14     3/16 X -14              1000

PCB66-02     1/8 X -2                1000 PCB03-16     3/16 X -16              500

PCB66-03     1/8 X -3                1000 PCB03-18     3/16 X -18              1000

PCB66-04     1/8 X -4                1000 PCB03-20     3/16 X -20              500

PCB66-05     1/8 X -5                1000 PCB03-28     3/16 X -28              500

PCB66-06     1/8 X -6                1000 PCB03-32     3/16 X -32              500

PCB66-07     1/8 X -7                1000 PCB04-02     1/4 X -2                1000

PCB66-08     1/8 X -8                1000 PCB04-04     1/4 X -4                1000

PCB66-09     1/8 X -9                1000 PCB04-06     1/4 X -6                500

PCB66-10     1/8 X -10               1000 PCB04-08     1/4 X -8                500

PCB66-11     1/8 X -11               1000 PCB04-10     1/4 X -10               500

PCB66-12     1/8 X -12               1000 PCB04-12     1/4 X -12               500

PCB88-03     5/32 X -3               1000 PCB04-14     1/4 X -14               500

PCB88-04     5/32 X -4               1000 PCB04-16     1/4 X -16               500

PCB88-05     5/32 X -5               1000 PCB04-18     1/4 X -18               500

FULL BRAZIER HEAD PIN DRIVE PCB04-20     1/4 X -20               500

ALUMINUM RIVET PCB04-24     1/4 X -24               500

PCB05-06     5/16 X -6               200

Part number Description Pack PCB05-09     5/16 X -09              200

PEB66-03     1/8 X -3                   1000 PCB05-12     5/16 X -12              200

PEB66-04     1/8 X -4                   1000 PCB05-15     5/16 X -15              200

PEB66-05     1/8 X -5                   1000 PCB05-18     5/16 X -18              200

PEB66-07     1/8 X -7                   1000 PCB05-21     5/16 X -21              200



PEB03-02     3/16 X -2                  500 PCB06-06     3/8 X -6                200

PEB03-04     3/16 X -4                  500 PCB06-09     3/8 X -09               200

PEB03-06     3/16 X -6                  500 PCB06-12     3/8 X -12               200

PEB03-08     3/16 X -8                  500 PCB06-15     3/8 X -15               100

PEB03-10     3/16 X -10                 500 PCB06-18     3/8 X -18               100

PEB03-12     3/16 X -12                 500 PCB06-21     3/8 X -21               100

PEB03-14     3/16 X -14                 500

PEB03-16     3/16 X -16                 500

PEB03-18     3/16 X -18                 500 3G PIN DRIVE LINER HEAD RIVET
PEB03-20     3/16 X -20                 500 ALUMINUM RIVET
PEB03-26     3/16 X -26                 500 (cont.)

PEB03-32     3/16 X -32                 500 Part number Description Pack

PEB04-02     1/4 X -2                   500 PJB03-17     3/16 X -17             500

PEB04-04     1/4 X -4                   500 PJB03-18     3/16 X -18             500

PEB04-06     1/4 X -6                   500 PJB03-19     3/16 X -19             500

PEB04-08     1/4 X -8                   500

PEB04-10     1/4 X -10                  500

PEB04-12     1/4 X -12                  500 HEX MACHINE SCREW NUT
PEB04-14     1/4 X -14                  500 304 STAINLESS STEEL-UNC
PEB04-16     1/4 X -16                  500

PEB04-20     1/4 X -20                  250 Part number Description Pack

PEB04-24     1/4 X -24                  500 VVU00X       0/80                   100

PEB04-28     1/4 X -28                  500 VVU11X       1/64                   100

PEB04-30     1/4 X -30                  500 VVU22        2/56                   100

PEB04-32     1/4 X -32                  500 VVU33X       3/48                  100

PEB04-36     1/4 X -36  EX LONG         200 VVU44        4/40                   100

PEB04-44     1/4 X -44  EX LONG         200 VVU55        5/40                   100

VVU66        6/32                   100

VVU88        8/32                 100

3G PIN DRIVE LINER HEAD RIVET VVU03        10/24                  100

ALUMINUM RIVET VVU21        12/24                  100

VVU04        1/4-20                 100

Part number Description Pack VVU05X       5/16-18               100

PJB03-11     3/16 X -11             1000

PJB03-12     3/16 X -12             500

PJB03-13     3/16 X -13             500

PJB03-14     3/16 X -14             500

PJB03-15     3/16 X -15             500

PJB03-16     3/16 X -16             500

DOWEL PINS TENSION SPLIT PINS
304 STAINLESS STEEL STAINLESS STEEL
(cont.) (cont.)

Part number Description Pack Part number Description Pack

KSA05016     5/16 X 1/2               100 KVA93032     3/32 X 1                    100

KSA05020     5/16 X 5/8               100 KVA93048     3/32 X 1 1/2                100

KSA05024     5/16 X 3/4               100 KVA02012     1/8 X 3/8                   100

KSA05028     5/16 X 7/8               100 KVA02014     1/8 X 7/16                  100



KSA05032     5/16 X 1                 100 KVA02016     1/8 X 1/2                   100

KSA05040     5/16 X 1 1/4             100 KVA02020     1/8 X 5/8                   100

KSA05048     5/16 X 1 1/2             100 KVA02024     1/8 X 3/4                   100

KSA05056     5/16 X 1 3/4             100 KVA02028     1/8 X 7/8                   100

KSA05064     5/16 X 2                 100 KVA02032     1/8 X 1                     100

KSA05080     5/16 X 2 1/2             100 KVA02036     1/8 X 1 1/8                 100

KSA05096     5/16 X 3                 100 KVA02040     1/8 X 1 1/4                 100

KSA06016     3/8 X 1/2                100 KVA02048     1/8 X 1 1/2                 100

KSA06020     3/8 X 5/8                100 KVA02064     1/8 X 2                     100

KSA06024     3/8 X 3/4                100 KVA156016    5/32 X 1/2                  25

KSA06032     3/8 X 1                  100 KVA156024    5/32 X 3/4                  100

KSA06040     3/8 X 1 1/4              100 KVA156028    5/32 X 7/8                  100

KSA06048     3/8 X 1 1/2              100 KVA156032    5/32 X 1                    25

KSA06056     3/8 X 1 3/4              25 KVA156048    5/32 X 1 1/2                25

KSA06064     3/8 X 2                  25 KVA156064    5/32 X 2                    50

KSA06080     3/8 X 2 1/2              25 KVA03016     3/16 X 1/2                  100

KSA06096     3/8 X 3                  25 KVA03020     3/16 X 5/8                  100

KSA08064     1/2 X 2                  25 KVA03024     3/16 X 3/4                  100

KVA03028     3/16 X 7/8                  100

KVA03032     3/16 X 1                    100

TENSION SPLIT PINS KVA03036     3/16 X 1 1/8                100

STAINLESS STEEL KVA03040     3/16 X 1 1/4                100

KVA03044     3/16 X 1 3/8                100

Part number Description Pack KVA03048     3/16 X 1 1/2                50

KVA01008     1/16 X 1/4                  100 KVA03056     3/16 X 1 3/4                50

KVA01012     1/16 X 3/8                  100 KVA03064     3/16 X 2                    50

KVA01016     1/16 X 1/2                  100 KVA03072     3/16 X 2 1/4                50

KVA01020     1/16 X 5/8                  100 KVA03080     3/16 X 2 1/2                50

KVA01024     1/16 X 3/4                  100 KVA21024     7/32 X 3/4                  25

KVA01032     1/16 X 1                    100 KVA21032     7/32 X 1                    25

KVA78012     5/64 X 3/8                  100 KVA21040     7/32 X 1 1/4                25

KVA78016     5/64 X 1/2                  100 KVA21044     7/32 X 1 3/8                25

KVA78024     5/64 X 3/4                  100 KVA21048     7/32 X 1 1/2                25

KVA78032     5/64 X 1                    100 KVA21064     7/32 X 2                    25

KVA93012     3/32 X 3/8                  100 KVA21080     7/32 X 2 1/2                25

KVA93016     3/32 X 1/2                  100 KVA04024     1/4 X 3/4                   50

KVA93020     3/32 X 5/8                  100 KVA04032     1/4 X 1                     50

KVA93024     3/32 X 3/4                  100 KVA04036     1/4 X 1 1/8                 50

KVA93028     3/32 X 7/8                  100 KVA04040     1/4 X 1 1/4                 50

TENSION SPLIT PINS COTTER PINS
STAINLESS STEEL STAINLESS STEEL
(cont.) (cont.)

Part number Description Pack Part number Description Pack

KVA04044     1/4 X 1 3/8                 50 LBA46024     3/64 X 3/4          100

KVA04048     1/4 X 1 1/2                 25 LBA46032     3/64 X 1            100

KVA04056     1/4 X 1 3/4                 25 LBA01016     1/16 X 1/2          100

KVA04064     1/4 X 2                     25 LBA01024     1/16 X 3/4          100

KVA04072     1/4 X 2 1/4                 25 LBA01032     1/16 X 1            100



KVA04080     1/4 X 2 1/2                 25 LBA01040     1/16 X 1 1/4        100

KVA04096     1/4 X 3                     25 LBA01048     1/16 X 1 1/2        100

KVA05024     5/16 X 3/4                  25 LBA78016     5/64 X 1/2          100

KVA05032     5/16 X 1                    25 LBA78024     5/64 X 3/4          100

KVA05040     5/16 X 1 1/4                25 LBA78032     5/64 X 1            100

KVA05056     5/16 X 1 3/4                25 LBA78040     5/64 X 1 1/4        100

KVA05064     5/16 X 2                    25 LBA78048     5/64 X 1 1/2        100

KVA05096     5/16 X 3                    25 LBA93012     3/32 X 3/8          100

KVA05112     5/16 X 3 1/2                25 LBA93016     3/32 X 1/2          100

KVA05120     5/16 X 3 3/4                25 LBA93024     3/32 X 3/4          100

KVA05128     5/16 X 4                    25 LBA93032     3/32 X 1            100

KVA06032     3/8 X 1                     25 LBA93040     3/32 X 1 1/4        100

KVA06048     3/8 X 1 1/2                 25 LBA93048     3/32 X 1 1/2        100

KVA06056     3/8 X 1 3/4                 25 LBA93056     3/32 X 1 3/4 ST/STL 100

KVA06064     3/8 X 2                     25 LBA93064     3/32 X 2            100

KVA06072     3/8 X 2 1/4                 25 LBA109032X   7/64 X 1            100

KVA06080     3/8 X 2 1/2                 25 LBA02020     1/8 X 5/8           100

KVA06096     3/8 X 3                     25 LBA02024     1/8 X 3/4           100

KVA07032     7/16 X 1                    25 LBA02032     1/8 X 1             100

KVA07064     7/16 X 2                    50 LBA02040     1/8 X 1 1/4         100

KVA07096     7/16 X 3                    25 LBA02048     1/8 X 1 1/2         100

KVA08040     1/2 X 1 1/4                 25 LBA02056     1/8 X 1 3/4         100

KVA08064     1/2 X 2                     25 LBA02064     1/8 X 2             100

KVA08080     1/2 X 2 1/2                 25 LBA02080     1/8 X 2 1/2         100

KVA08096     1/2 X 3                     25 LBA02096     1/8 X 3             100

KVA08128     1/2 X 4                     25 LBA02112     1/8 X 3 1/2         100

LBA156024    5/32 X 3/4          100

LBA156032X   5/32 X 1            100

COTTER PINS LBA156040    5/32 X 1 1/4        100

STAINLESS STEEL LBA156048    5/32 X 1 1/2        100

LBA156056    5/32 X 1 3/4        100

Part number Description Pack LBA156064    5/32 X 2            100

LBA31012     1/32 X 3/8          100 LBA156080    5/32 X 2 1/2        100

LBA31016     1/32 X 1/2          100 LBA156096    5/32 X 3            100

LBA31024     1/32 X 3/4          100 LBA03020     3/16 X 5/8          100

LBA31032     1/32 X 1            100 LBA03024     3/16 X 3/4          100

LBA46012X    3/64 X 3/8          100 LBA03032     3/16 X 1            100

LBA46016     3/64 X 1/2          100 LBA03040     3/16 X 1 1/4        100

COTTER PINS COTTER PINS
STAINLESS STEEL BRASS
(cont.) (cont.)

Part number Description Pack Part number Description Pack

LBA03048     3/16 X 1 1/2        100 LCA156048    5/32 X 1 1/2               100

LBA03056     3/16 X 1 3/4        100 LCA156064    5/32 X 2                   100

LBA03064     3/16 X 2            100 LCA156096    5/32 X 3                   100

LBA03080     3/16 X 2 1/2        100 LCA03024     3/16 X 3/4                 100

LBA03096     3/16 X 3            100 LCA03032     3/16 X 1                   100

LBA04032     1/4 X 1             100 LCA03040     3/16 X 1 1/4               100



LBA04040     1/4 X 1 1/4         50 LCA03048     3/16 X 1 1/2               100

LBA04048     1/4 X 1 1/2         50 LCA03064     3/16 X 2                   100

LBA04056     1/4 X 1 3/4         50 LCA03080     3/16 X 2 1/2               50

LBA04064     1/4 X 2             50 LCA03096     3/16 X 3                   50

LBA04080     1/4 X 2 1/2         50 LCA04064     1/4 X 2                    100

LBA04096     1/4 X 3             50 LCA04080     1/4 X 2 1/2                50

LBA05048     5/16 X 1 1/2        50 LCA04096     1/4 X 3                    50

LBA05064     5/16 X 2            50

LBA05080     5/16 X 2 1/2        50

LBA05096     5/16 X 3            50 COTTER PINS
LBA06048     3/8 X 1 1/2         50 DIN 94 - ZINC PLATED

LBA06064     3/8 X 2             50

LBA06080     3/8 X 2 1/2         50 Part number Description Pack

LBA06096     3/8 X 3             50 BZC1.6010    M1.6 X 10           100

BZC1.6012    M1.6 X 12           100

BZC1.6016    M1.6 X 16           100

COTTER PINS BZC1.6018    M1.6 X 18           100

BRASS BZC1.6020    M1.6 X 20           100

BZC1.6025    M1.6 X 25           100

Part number Description Pack BZC1.6032    M1.6 X 32           100

LCA01016     1/16 X 1/2                 100 BZC1.6036    M1.6 X 36           100

LCA01024     1/16 X 3/4                 100 BZC02016     M2 X 16             100

LCA01032     1/16 X 1                   100 BZC02018     M2 X 18             100

LCA01040     1/16 X 1 1/4               100 BZC02020     M2 X 20             100

LCA01048     1/16 X 1 1/2               100 BZC02022     M2 X 22             100

LCA93016     3/32 X 1/2                 100 BZC02025     M2 X 25             100

LCA93024     3/32 X 3/4                 100 BZC02032     M2 X 32             100

LCA93032     3/32 X 1                   100 BZC02040     M2 X 40             100

LCA93040     3/32 X 1 1/4               100 BZC2.5016    M2.5 X 16           100

LCA93048     3/32 X 1 1/2               100 BZC2.5020    M2.5 X 20           100

LCA02024     1/8 X 3/4                  100 BZC2.5025    M2.5 X 25           100

LCA02032     1/8 X 1                    100 BZC2.5032    M2.5 X 32           100

LCA02040     1/8 X 1 1/4                100 BZC2.5040    M2.5 X 40           100

LCA02048     1/8 X 1 1/2                100 BZC03025     M3 X 25             100

LCA02064     1/8 X 2                    100 BZC3.2016    M3.2 X 16           100

LCA156032    5/32 X 1                   100 BZC3.2020    M3.2 X 20           100

LCA156040    5/32 X 1 1/4               100 BZC3.2025    M3.2 X 25           100

BZC3.2032    M3.2 X 32           100

DIN 94 - ZINC PLATED BZC3.2040    M3.2 X 40           100

(cont.)

Part number Description Pack

BZC3.2050    M3.2 X 50           100

BZC04025     M4 X 25             100

BZC04032     M4 X 32             100

BZC04040     M4 X 40             100

BZC04045     M4 X 45             100

BZC04050     M4 X 50             100

BZC04063     M4 X 63             100



BZC05020X    M5 X 20             100

BZC05032     M5 X 32             100

BZC05040     M5 X 40             100

BZC05045     M5 X 45             100

BZC05050     M5 X 50             100

BZC05056     M5 X 56             100

BZC05063     M5 X 63             100

BZC05071     M5 X 71             100

BZC6.3040    M6.3 X 40           100

BZC6.3045    M6.3 X 45           100

BZC6.3050    M6.3 X 50           100

BZC6.3063    M6.3 X 63           100

BZC6.3080    M6.3 X 80           100


